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SN

X ZH -
S = -

S0ah LS UXAE Y ~ &

PADNE=FS T,
SATXNEE P&

(=)
SR T AT AMBRYATE

[
2

2 A

A

SN ZHM . CA(SH) - HEAY - BAS Off Ak 04 %ggf; B =

JADNE=LESIN 4,300,700 4,842,174 ABAT 474
= 220,000
= 4,080,700

SHETNXNEE S 4,171,700 4,713,174 ABAT 474
= 220,000
[ 3,951,700

S AT AMYEEMAAS 825,450 1,310,750 A 485,300
= 220,000
& 605,450

AUXEE 2ed 2 62,550 55,350 7,200

201 Yt | 19,800 12,600 7,200

01 At 2teltl 19,800 12,600 7,200
OFMI=2ALS 29 9,000
ONZ EldZ229 22 M= 10,800

202 (44l 23,750 23,750 0

01 =2 A bl 23,750 23,750 0
ORXH Y2 EX 23,750

203 P2 EY| 19,000 19,000 0

03 Al =& 2| 19,000 19,000 0
OXXIH A EX 14,250
ONXHHY2EX 4,750

Fao|2, S X3 370,000 894,500 A524,500

307 S12H0| & 246,000 206,000 40,000

02 QBN EE 246,000 206,000 40,000
O0lEXMES TR 2% X 52,000
OENsYess 29 X 62,000
OYZFH3EY SLZY X 20,000
OUEELNER0s 29 30,000
OB oS XA (HEA &8 20,000
O0I=5% BLA2A X 32,000
OXFNUX HESE XA X2 30,000

308 AtXIEHMI SO0I & 54,000 448,500 A 394,500

01 XM BAEES 54,000 448,500 A394,500
OX%HEN 23 XA 180,000, 000& *30% 54,000

403 KX SHHIS AH20[ & 70,000 240,000 A 170,000

01 AXIEH A2 2L 70,000 240,000 A 170,000
ORTI|2 SHOAIY X2 70,000

NYHE AIMFX 148,900 140,900 8,000

201 L Et2FH| 20,000 20,000 0

01 At 221 20,000 20,000 0
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M XA
HE: MRUNKCH P8
8g

o9 PR AWYHS AS NSEY Lt (e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
28 ATYLS S8 REEY Ys 2,775,850 2,895, 160 £119,310
229 2RSS 1,542,000 1,730,000 188,000
201 L2 Y| 517,000 500,000 17,000
01 ALR eIt 517,000 500,000 17,000
ONSEIIZ ISR 517,000
202 01t ,025,000 1,230,000 A205,000
04 = HI 301 ] 225,000 225,000 0
O ?Ie 294 225,000
05 22 RSO 800,000 1,005,000 A205,000
OS2I DR 800,000
=L SIELE T 598,000 723,000 £125,000
201 L2 Y| 160,000 198,000 38,000
01 ALR eIt 160,000 198,000 38,000
Ost9l U X2DY B3 160,000
202 01t 438,000 525,000 87,000
04 = I 501 438,000 525,000 87,000
o"Z2 ¢ MM 438,000
228 sANLXY 619,650 430,160 189,490
201 YEr2g Y| 617,850 430,160 187,690
01 ALR 2l t] 617,850 430,160 187,690
OAECIIE ¥ OPIHIDIZY ZAIR 20,000
OS2 BS 200,000
O 2SIyl 10,000
ORYTH 7S 28,800
OSHHe2Y 207,550
oustay 82 X 90,000
OAYDA 2 1,500
OYNSEY 29 60,000
303 Zata 1,800 0 1,800
NEZXE) 1,800 0 1,800
OSHUS Lash T4 1,800
VENCTE- R R 16,200 12,000 4,200
202 01t 16,200 12,000 4,200
04 = I 301 | 16,200 12,000 4,200
OAYDA SESLT HBE K& 6,200
AST MMEEOR HME UXEH 7H 558,400 495,564 62,836
ZOIXXIME &R 280,000 210,000 70,000
403 KX EHH S K2 0| & 280,000 210,000 70,000
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A M SE
A HAH2LAHN(NXEHD)
gel: J12d

DA HB L CP(E) - HRAY - BAS 0il &t o S
e cSH I T2 ° _I_ [= Bl e (] 04”:"%
01 AR 2t eld| 60,000 60,000
OMXAHHRFL 60,000
202 (44| 58,200 58,200
01 S LHAHbI 58,200 58,200
OXNXAHHRFL 58,200
203 g =&l 10,800 10,800
01 JI 22 RFLAY| 6,600 6,600
o= 6,600
04 EM2I TR 4,200 4,200
OXxI & E 4,200




